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M 1:

g aiffrel & snfige goga &1 uReed Sifor:

Ha, 03, Cly, CO,, CHy, CzHe, C2Hs, NH3 Td CH30H
.3 1:

I F1 3MUaH GHH = TffE & T U] H IuRIT Tt IRAT[sif &1 $of goqa=
3Hd:,

H, BT 3MfUqdh GHH = 2x1=2u

0, &1 3G GHM = 2x16 =32 u

Cl, 1 3ATUaH FHAF = 2x35.5 =70 u

CO, &1 3ATTIH GHHM = 1x12 + 2x16 = 44 u

CH, T 31U Go0HM = 1x12 + 4x1=16u

C2He BT 31fUGH GHH = 2x12 + 6X1 =30u

C2H, BT 0GP GOHM = 2x12 + 4x1 =28 u

NH; T 30 Go0HM = 1x14 + 3x1=17u

CH:OH &1 HT0adh GHM = 1x12 + 4x1 + 1x16=32u

A3 2:

9 DNRTD! & G IHTS ST BT URDBAA DT
Zn0, Na;0 Td K;COs

T%CIT‘TEIT%:

Zn D[ UHIU] GodHIT = 65 u

Na & UHIU] gHTT = 23 u

K T IRHTY] G081 = 39 u

C T UTHTY] GoTHM = 12 u Td

0 T TRHTY A = 16 u g

€.3W2:

Zn0 P Y THTS GTHM = 1x65 + 1x16 =81 u

Na,0 &1 Y SHTs TH = 2x23 + 1x16 = 62 u
K2COs T G IPTS SoTHM = 2x39 + 1x12 + 3x16 = 138 u
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